PASS
PORT. :hager
Product Environmental Profile

Shutter push button with mechanism lock — white

Company information References covered

Hager WL0340, WL0342,WL0343

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Establish, support and interrupt the rated current 10A and rated voltage 250V, and IP 20, for a wall-mounted

Reference product identification
application, according to the appropriate use scenario, and for the reference service life of the product of 20

WL0340
years.
Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
Switches product.
1/6 HAGE-01322-V01.01-EN

PEP ecopassport



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

% % %
ABS 17.20 22.0% Stainless steel 31.53 40.4% Cardboard 10.73 13.7%
PAG 9.60 12.3% Brass 3.90 5.0% Wood 1.86 2.4%
PE-HD 1.20 1.5% Silicon 0.00 <0.1% Cardboard 1.49 1.9%
PE-LD 0.37 0.5% Glass 0.05 <0.1%
PBT 0.15 0.2% Paper 0.01 <0.1%
Other 0.00 <0.1%
'pl'z::alllargie:]sgs:of reference product with raw material 7808 g
Total mass of reference product (Product + 74361 g

packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

o
c
= ©° %]
g 2 =] z 3 £
5 g < c < £ e | 88 g
i=} o S S 5 =1 5 D > °
S 8 = = ] © S -5 85
s 2 2 2 eg =g 5% = 2 o ® c < =3 § 3
s £ c c == S5 8 Q c = 5 25 S o Q o a
8] < = c g 3 T 2 2 2 =] g 3 G S B £ E RS s o
92| E E S & 56 E= 5 =5 £ = gs g g E c £ @ ] SE
T 9O o 3] 5 S ow =3 c s ] o 3 o £ 0 T a o z 2 9 g2
=9 | £ £ 2° S0 Sl=1 2 9] 3 2 =0 2a I @ = 5 2 23 o &
T & E] = T SR S @ = 7] 53 5 3 =1 ] 2
2 S = = < o <] =)
S5 | 8 g o g %3 5 2 3 5} & 8 @ S o ° S 2 £ 3 e T o
Eg| g = [al-1 £3 S = o 2 s o< a ] o & 22
z® 2 o o 8o &) ) = = & s
sl 7] = < = S i) [} < 0 c
o = = = e < £ L3 o
= i = E 2 >
= I o
=
oy
5]

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

PEP ecopassport 2/6 HAGE-01322-V01.01-EN



Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.
Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Use

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0.0078 30% 0 70% 0 0% 0 30% 0 70%

This corresponds to a total energy consumption of 0.41 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 69%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.4-12 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

Al-A3 A4 A5 Cl-c4

Europe - Europe Europe Europe

PEP ecopassport 3/6 HAGE-01322-V01.01-EN



Environmental impact indicators

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAD na | e | BiLET | e | GLOBAL ‘ Module D
Acidification (PEF-AP) mole H+ eq 3.47E-03 8.26E-05 3.89E-05 7.40E-04 2.84E-04 4.61E-03 2.30E-04
Climate change - Total (PEF-GWP) kg CO2 eq. 6.13E-01 1.30E-02 1.76E-02 1.45E-01 1.01E-01 8.90E-01 7.45E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.37E-02 0.00E+00 2.75E-03 2.66E-04 2.00E-03 -8.72E-03 1.82E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 6.27E-01 1.30E-02 1.49E-02 1.44E-01 9.95E-02 8.98E-01 7.27E-02
ST EELA 1se et e ese kg CO2 e 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
change (PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) 3.37E+00 8.54E-03 1.71E-01 2.73E-01 5.03E-01 4.33E+00 4.87E-01
EF-particulate Matter (PEF-PM) '”si::;';g:f 6.42E-08 6.71E-10 2.40E-10 5.96E-09 2.62E-09 7.37E-08 2.19E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 3.59E-06 4.89E-09 1.61E-07 3.80E-07 9.19E-07 5.06E-06 9.12E-07
Eutrophication marine (PEF-Epm) kg N eq. 4.01E-04 3.87E-05 1.77E-05 9.02E-05 7.49E-05 6.23E-04 5.67E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.16E-03 4.25E-04 1.22E-04 1.45E-03 8.68E-04 7.02E-03 6.51E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 7.65E-08 2.29E-13 1.30E-09 1.82E-11 8.81E-11 7.79E-08 8.38E-11
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.35E-08 4.43E-12 4.34E-11 4.34E-10 1.12E-09 1.51E-08 1.07E-09
lonising radiation, human health (PEF-IR) g Bq U235 e 2.09E+00 3.18E-05 1.78E-03 2.08E-01 3.20E-03 2.30E+00 2.90E-03
Land use (PEF-LU) dimension 1.10E-02 0.00E+00 1.43E-03 4.00E-03 1.13E-01 1.29E-01 2.45E-02
Ozone depletion (PEF-ODP) 8.40E-08 2.00E-11 2.39E-10 7.00E-10 5.66E-09 9.06E-08 4.91E-09
Photochemical ozone formation - human
health (PEF-POCP) of NMVOC eq 1.47E-03 1.07E-04 2.84E-05 2.84E-04 2.13E-04 2.10E-03 1.63E-04
Resource use, fossils (PEF-ADPf) 1.21E+01 1.82E-01 1.20E-01 3.65E+00 6.88E-01 1.68E+01 6.10E-01
igif’e‘;"ce 153, (RS ENE EE (RS kg Sbeq 3.43E-05 5.13E-10 1.57E-09 5.11E-08 1.38E-07 3.45E-05 1.27E-07
Water use (PEF-WU) 1.89E-01 4.95E-05 5.67E-02 1.11E-02 1.21E+01 1.23E+01 1.16E+01
Resource use indicators

- - Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAG | Aa | A5 | BiBT | ClcA | GLOBAL | Module D
Net use of fresh water m3 4.40E-03 1.15E-06 1.81E-03 2.60E-04 3.47E-01 3.54E-01 3.31E-01
Total use of primary energy - 1.24E+01 1.82E-01 1.35E-01 4.61E+00 7.51E-01 1.80E+01 6.57E-01
e NN IEASHEBIC RIS SHEIOY - 1.21E+01 1.82E-01 1.20E-01 3.65E+00 6.88E-01 1.68E+01 6.10E-01
e O ENSNEBE PIMA EREIoY - 2.36E-01 2.43E-04 1.53E-02 9.65E-01 6.31E-02 1.28E+00 4.78E-02
Use of non-renewable primary energy,
excluding non renewable primary energy MJ 1.08E+01 1.82E-01 1.20E-01 3.65E+00 6.88E-01 1.54E+01 6.10E-01
resources used as raw materials
Use of non-renewable primary energy - 1.34E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.34E+00 0.00E+00
resources as raw materials
Use of non-renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of renewable primary energy, excluding
renewable primary energy resources used as kg 1.74E-01 2.43E-04 1.53E-02 9.65E-01 6.31E-02 1.22E+00 4.78E-02
raw materials
Use of renewabie primary energy resources as 6.21E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.21E-02 0.00E+00
raw materials
Use of renewable secondary fuels - 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary materials 1.07E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.07E-02 0.00E+00

PEP ecopassport 4/6 HAGE-01322-V01.01-EN



Waste category indicators

Indicators GLOBAL

Al1-A3 Ad A5 B1-B7 C1-C4
Hazardous waste disposed 2.52E+00 0.00E+00 2.86E-04 6.33E-03 2.77E-20 2.53E+00 2.41E-20
Non-hazardous waste disposed 3.01E-01 4.58E-04 4.82E-03 2.44E-02 1.10E-05 3.31E-01 8.43E-20
Radioactive waste disposed 1.43E-04 3.26E-07 5.78E-07 5.60E-06 7.86E-09 1.49E-04 0.00E+00

Manufacturing | Distribution | Installation | Use | End Of Life |

Output flow indicators

End Of Life
C1-C4

Installation

Indicators GLOBAL

Al-A3 A4 A5
Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 6.26E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.26E-04 0.00E+00

Manufacturing | Distribution

Materials for energy recovery 8.48E-04 0.00E+00 9.66E-04 0.00E+00 0.00E+00 1.81E-03 0.00E+00

Materials for recycling 1.14E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.14E-02 0.00E+00

Biogenic carbon content

Packaging i Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
1.22E-02 5.20E-06 1.86E-03 1.41E-02
3.42E-03 1.97E-06 7.35E-04 4.16E-03
3.42E-03 1.97E-06 7.35E-04 4.16E-03
ADEME APESA/RECORD EN 16485
Prod ardboa Pape ood
g 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge bon conte eclare kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge bon conte ona kg of C 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For references in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are calculated from life-cycle analysis (LCA).

Verification

. . Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°: HAGE-01322-V01.01-EN
Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH37 Information and reference documents: www.pep-ecopassport.org
Date of issue: 1-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o
The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 5/6 HAGE-01322-V01.01-EN



Appendix

v]

J

ole of N eq.]
(PEF-POCP) - [kg of NMVOC €

(PEF-GWP) - [kg CO2 eq]

marine (PEF-Epm) - [kg N eq.]
- human health

n
rals and metals (PEF-ADPe) - [kg Sb eq]

human health (PEF-IR) - [kg Bg U235 eq.]
Land use ((PEF-LU)

Exported Energy - [MJ]

Materials for recycling - [kg]

Total primary energy - [MJ]

Components for reuse - [kg]
Use of secondary material [kg]

Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Net use of fresh water - [m3]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Water use (PEF-WU) - [m3 eq.]

Resource use, fossils (PEF-ADPf) - [MJ]
Total renewable primary energy - [MJ

mate change - Total (PEF-GWP) - [kg CO2 eq.]
Use of renewable secondary fuels - [M

Total non renewable primary energy - [MJ]

5
&
g
+
I
5
&
]
&
N
18
w
>
S
8
8
2
]
<

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Human toxicity, cancer (PEF-CTUh-c) - [C
Use of non renewable secondary fuels - [MJ]

mate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophicatior

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Human toxicity, non-cancer (PEF-CTUh-c) - [CTUh]

Renewable primary energy used as energy - [MJ]

Climate change-Fossi
Non renewable primary energy used as energy - [MJ]

Eutrophication, terrestrial (PEF-Ept) - [r

al ozone formatis
Renewable primary energy used as raw material - [MJ]

EF-particulate Matter (PEF-PM) - [incidence of diseases]

nising radiation.
Non renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Resource use, mine

=)

2 WL0340

= sares| 61301 137e02| szieo| oooewoo| oooeion| aaveio| asoeos| acieos| ssseca| easeos| zsaewoo| reseoo| 1aseoo| 200ei00| su0ee| sesmos| 11emor| sseos| aceo| soseios| saseioo| saocos| sazeon| rereos| 1useos| 1reor| szeer| rzew| sseos| 1zei| sae| 23e0| coeoo| coeoo| 1oece| seseo]
2o

c <

S 4 WL0342

52 asseas| 62001 137e02| ase0r| oooewoo| oooesoo| asoeso| seomos| aneos| sazeecs| easeos| 2seevon| reseos| 1aseon| 200ew00| 110e0e| mesmos| 11em02| asseos| soeor| 1uewr| vaseio| ssrmos| sareos| 1sseos| 1wsmos| 1meor| szee| 12e0| sseos| 1aein| 1ae| 236801 oooeoo| oooeoo| 1o7ece| 1sseo]
g

= WL0343

acee0a| 63601 -Larece| 6s0e01| oooesoo| oooevco| aseesoo| asoe0s| 417e0s| assecs| ezemos| 2saevco| 7esos| 1secs| 2osesco| 10e0z| sasmos| 1ieecr| asseos| acser| 1i3eeor| raseico| 7sce| esiecs| reros| 1asecs| 17aor| ezece| 127ei0r| assecs| 1z7es0| sosevor| 236e01| oooevo| covesoo| vo7E0z| 1ese0r

WL0340

szse0s| 1%g02| oooesoo| 130£02| oooesoo| oovevo0| esias| asseos| aeveos| azseos| oovesco| oooevn| 22913| asserz| siseos| oooevon| oovesco| ooovon| 1isos| asseos| reemor| oooevn| 200em| erieno| roreos| azseor| 2aseos| aooeo| reeeor| sieo| reeeor| 1seor| 24308| oooevo| ooesoo| oooevco| ssseos

WL0342

s2ee0s| 130e02| oooewoo| 130e02| oooesoo| oooevco| esma| assecs| aereos| azsecs| oooesco| oooevco| 220m13| asserz| asseos| oooevo| oovesco| oooevo| 1iseos| assecs| receor| cooevo| 200mu| emeno| ro7eos| azeeor| 2asos| oocevo| reeor| siseo| reeor| 1ser| 24s06| oooevo| cooesoo| cooevoo| ssseos

Distribution
A4

WL0343

s2e0s| 1%g02| oooesoo| 130202| oooesoo| oovevs0| esieas| asseos| seveos| azseos| oovesco| oooevn| 22013| asserz| siseos| oooevon| oovesco| ooovon| 1isos| asseos| reemor| oooevo| 200em| erieno| voreos| azseor| 2asos| aooeco| reeeor| sieo| reeeor| 1seor| 24s0s| oooevoo| oooesoo| oooevco| ssseos

WL0340

-
5 aaoeos| s7ee02| 27sm00| om0 oooesoo| oooeroo| 171Er| sereor| 177eos| 120ee] ooomco| 2sseoe| 1soros| aseess| 17ses| 1aseos sceeos| oooeion| 1eiecs| ascecs| 1a0e0r| osomsoo| 2sseso| 2seto| zsseos| s7meor| ssweoe| oooeoo| saoeor| vsmeoo| saoeor| vaseor| ssseoe| ooossoo| oooeioo| woopsoo| serece
S 1
T < WL0342
I asseos| 17002 27smoa| sasmo| oooeeoo| ooomeoo| 171Eer| 1mmor| 17reos| 1z2mos] ocomo| 2eseos| 1aes| sseens| 17eees| 1aces| sseeos| owoein| 1eecs| aseecs| 1zeor| owesoo| 2smeso| 2soeso| zsseos| s7eeor| sswoe| oooevoo| s2eor| ss7eoe| szomor| saseor| ssamo| ooomeoo| ooveroo| oomsoo| serece
17}
aaoeos| s7ee02| 27sm0a| sa0m0| oooesoof oooeioo| 171Er| sereor| 177eos| 122ee] oooeco| 2sseoe| 1soros| aseess| 17sEs| 1aseos seeos| ooomion| 1eiecs| ascecs| 1a0e0r| osomsoo| 2sseso| 2seto| zsseos| s7meor| ssweoe| oooeoo| saoeor| ssmeoo| saomor| vaseor| ssseoo| ooosioo| oooesoo| woopioo| serece
raoos| saseor| zoseos| 1asmor| oooeeoof ooomeoo| 27a0r| asomor| soemos| 1aseos| ocomo| swes| 1ezens| sseein]| 20em01| 4coecs oooewwo| oooeion| 2e0e0s| 2ssece| aesevco| owoesoo| rooeao| ssecos| zsseos| sevcos| ssseor| oooevoo| aeseivo| sseon| aeseroo| ssieof ssseor| ooomoof ooveroo| oomoo| 1uece
o &
@ WL0342
=) raco| ssees| 2wean] sucor| aoeo] omoen| ameor| smmeor| soes| suscos| ooneol ssee| smress| ssieso] zosear] scocen] oomeio| o] 2eoeer| asscon| o] osocan| raoeso| soseos| zosan| seocos| suseon| o] assern| ssicon| asseuno] soscin| ssseor| ocrir] owetn| ooueio| suen
raoos| saseor| zoseos| 1asmor| ooomeoof ooomeoo| 27a0r| asomor| sozmos| 1aseos| ooomo| swes| 1ezens| ssein]| 20em0r| 4coecs) oooewwo| owoeion| 2e0m0s| 2ssece| aesevco| owoesoo| raoeso| ssecos| zsseos| sevcos| esseor| oooevoo| aeseivo| sseon| aeseroo| ssreof ssseor| ooomoo| ooveroo| oomoo| 1uece
2 204600 1016 01| 200603| sose02| oooeeoo| ooovoo| soseor| ssoeor| 7ase0s| seseos| oooewo| 27rEz0| esess| 11260s| s20res| 113501| oooevoo| cooeeoo| sereor| s10e0s| cmseor| ocorco| seseos| 26e0s| 213604 7eseos| esieoz| ooverco| csseor| 1seor| esseor| 7sieor| esieor] oooeeoo| oooeo| oooerco| 1216y
B}
o I WL0342
=3 zascor| 10| zoomoa| ssseor| oooeeoo| ooomeoo| soaeor| sasmor| 7aseos| ssseos] ocomo| 27| smen| 11mes| amew| 110 ooeww| owewm| sereor| 1i0e0s| csseor| owesoo| seecos| 2eeos| 2ieos| vescos| saece| oooevoo| sseor| 1aseor| seseor| 7| saeor| ooomoo| ooveroo| oomoo| 1asewes
[im}
WL0343
2ascos| soeor| z00m00| soseor| oooeioof oooeioo| soseor| suseor| 7aseos| seseor] oooeeco| 27re0| ssies]| 11208 sz0ees| 1iseos| oovewco| ocoeion| sereor| 1ioeos| csseor| osomsoo| seeeos| 2eeos| 2iseos| rescos| saeoe| oooeoo| ssseor| 1aseor| esseor| rsieor| sareoe| oooeioo| oooeroo| woopioo| 1asees
a 2aoc0s| 7aseor| 1azeoa| 72reo| oooeeoo| ooomeoo| ssreor| smor| sereos| ssisos| ooomo| 2usw| sumen| 1o7ees| 2s0ews| 2esece| oo owewn| smenr| esezn| cioeor| owesoo| aseos| 2isecs| veseos| oooesoo| areece| oooevoo| sroeor| s2reor| saoeor| ss7Eor| s7eeoo| ooomsoo| ooveroo| aoomsoo| riseros
[}
2 WL0342
= ~aose0s| eorece| -soreas| coseca| ooosco| ocoesoo| -vssear| 2iecos| -oseos| -roeos| oooeico| assear| sssesof 2oseoo| wosmoa| -iseor| oooesoo| oooeroo| -soser| 1siez0| -e11e0r| oooeioo| -220e08| s1660s| 279604 ooEeon| ssroz| ocoeeon| -e1seor| -viseos| erseos| sseor| 4eseoe| oooesoo| ooveico| oooesool -trzeron

WL0343

vasos| 2ose0z| 1seeoa| 2soe0z| oooesao| oovevoo| assmor| saseor| 2eomos| 2sseos| oovewco| 17ee20| 7esEn| sseno| 2e0mes| ase0z| oovewco| oovevcn| soreor| sorez0| 4ssor| oooevo| se7eos| 1s7E0s| sz7ecs| oovevoo| a7aEce| oooevco| sssEor| 1seor| ssseor| smeor| a7aEce| oooevoo| oovesoo| oooevco| Loseror

PEP ecopassport 6/6 HAGE-01322-V01.01-EN



